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you to the mark-reading sheet if you have entered your student number incorrectly.

Page 1 of 12



BNU1501
2 Ocl/Nov 2015

Question 1

Suuphfy the following expression
20— 1) = 8x (yF - 1)

DURBAN ONLY

—

—6uey? — 2% — 8

bo

UJ._II_—

.2 2

—6ry” — 2y* + 8T Uma ungayenzanga iPure Mathematics at high school level (matric),
3 3 3 uzodinga usizo kwi BNU1501 & QMI1500 to assure ukuth uyaphasa.

207 =207 — Buy’ + B

3 3 My BNU1501 & QMI1500 classes for first semester will start at the
—bhryt — 2y° + Ry beginning of February 2018.

Uma ufisa ukufunda nami | would advise ukuthi wenze iBNU1501

. ngoSemester 1 then QMI1500 ngoSemester 2 (do BNU1501 before
Question 2 registering QMI1500)

mimplify the [ollowing expression
thyz —_ (4 L2y3)2 % 87 4?15 Contact me on 0795995471 uthole ulwazi olwanele

1] 2y
2] 4oy
E
[  ay

Question 3

Simphfy the following expression
1y Gy’

12] 18~ y2

3] 6s%yt

4] 1877y

Question 4

Solve fo1 z 1n the followmng equation

22 — 1 =4dr
[ 3
2 1
[3] -1
4 -4

Question 5

Solve for 2 1n the following equation

U
2 8
I
4] 2

Page 2 of 12



BNU1501
3 Oct/Nov 2015

Question 6

If a certain number z 15 increased by 7 1t will be equal to twice that same number decreased by 3
The correct mathematical expression or equation for the sentence given above, 1s

1] 7z = -3(2z)

2] 2~7=2(z+3)

B] z+7=2z-3

4 Tz=22-3

Question 7

A dealer buys 120 pens of which £ cost R3 each and the rest R4 each Au expression, i terms of z, for
the number of the more expensive pens he buys, 1s

(1] (120 — z) pens

[2] 4z pens

3] (120 — 37) pens

(4] (z--120) pens

Question 8

Consider the figure below  The dotted hines indicate lengths Determine the perimeter of the shaded
patt, m centimetres rounded to two decimal digits

20cm

(1 173,10
(2] 78,85
(3] 70,85
(4 92,00

Question 9

Determine the area of the shaded part shown in the figure in question 8 (1ounded to two decimal digits)
The area 1s

(1] 305,10ecm?®

(2] 344,55 cin®

(3] 210,85 cm?

[4] 248,55 cm?

Page 3 of 12



BNUL501
1 Oct /Nov 2015

Question 10

Calculate the volume of watet needed to fill a reservorr with the dumensions shown 1 the figme below
Give the answer in litres, 1cunded to the nearest litie

m
~ A

dm

g

(1] 471239¢
0] A71¢

(3] 18857

(4] 18849567

Question 11

A fish pond 158 1 the form of a aircle with a diameter of 4 m A wrcular path around the pond 1s 1,2m
wide Calenlate the area of the path which need to be paved Determime the answer rounded to one
decimal digig

1] #,7m?

[2]  78,4m?
3]  19,6m?
[4]  34,7m?
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Question 12

If A= %b x kv make h the subject of the formmula

i n=2
2 A= gbﬁ
[ h=4b
4] h=24b

Question 13

It § = %, make 1 the subject of the foimula

] 1=5-a
2] r=a-95-1
Bl r=%-1
[4] I=b§a

Question 14

A manufacturer produces 32 chairs per day The daily fixed cost 15 R1200 and the cost of producing
one chair 1s R50 Suppose he sells all the chaus he produces per day and makes a profit of R2000 per
day Ths selling price per chai 1y

(1]  R62,50
[2] R101,56
3] R1L250
[  R150 00

Question 15

Deternmme the LCM (least common multiple) of the following

arTal 14.ry2, | 2z

(1] tdr?yd
2] 28uy°
[3]  168a%y
4] 2uy
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Question 16

Smiphfy each of the following

—2_1,1
e=3-§t3
R B G
b=35-35x3
~ 5 _0,4
C=3-§%3

Pick the option with all thiee answers coirect

(1] a=1, b=1% c=1l5
2] a=%, b=1I c=1

3} a=&, b=1}, c=13
4 a=d b=3 c=13

Question 17

The cquation of the stiaight hine passing thiough the pomts (-2, —3) and {1

1 7
n y=31-3
R y=5:-7
13 ,_k:li_,b,_lgl&
M4} y=u-1

Question 18

A school had 1200 learners i 2013 In 2014 the enrolment increased by 15%

of learners cniolled 1n 2014

1 1215
2] 1380
3] 180

[4] 1020

Question 19

BNU1501
Oct/Nov 2015

—2) 13

Determine the number

A school has 30 teachers If the ratio of the numbe of femnale teachors to the number of male teachers

at the school 15 3 2, how many ale teachors are there at the schonl’

012
2] 2

31 10
418
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Question 20

Whiat sumn of money shonld be invested at 8% simple interest rate per vear, to carn a total ot R 10800 00
mterest in three years? Give the answer to the neaiest 1and

(1] R450,00

(2] R8710.00
[3]  R8573.00
(4] R45000,00

Question 21

At what annual simple intercst rate should R24 000 be wvested 1o grow to R36 000 1 4 vears?

1 0,125%

2] 8,3%
3 125%
4] 15%

Question 22

At what interest rate per year must R1000 bhe mvested so that the investment 13 worth R1 500 after 9
years? Interest s compounded quattetly Give the answer rounded to the first decunal digat

1] 4.0%

2 104%
B3] 25,0%
(] 208%

Question 23

An amount of R10000 15 mvested at an anmual mterest rate ot 12%, compounded every fomr months
Fiud the value of the mvestment after 5 years

1] Rlo000

2] R18009,44

(3]  RI8061.11

[4]  R5552,65

Qucestion 24

Jacky bought a sccond hand car for R20000 trom a dealer in Pretona She managed 10 secute a loan
at an interest 1ate of 10,5% per year compounded monthly The terin of the loan 15 5 years Calenlate
lacky’s monthly pavineni,

[l R2357.50

2]  R1019,51

(3]  R1920,00

[4)  R1719,51
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Question 25

Joseph bought « town house m Northndimg Johannesbwrg for R700000 He managed to seewe a loan
lor the full amount at a hixed wterest rate of 7 75% per year  compounded monthly  Calculate how
trany years it will take [oseph to pay off ns loan 1f he makes monthly paviments of RE00D0 mto this
loan account, Grve the answer to one decunal digit conectly

11 181 years
2] 2175 years
B3] 7.3 years
4 9.7 yeais

TOTAL: 100
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FORMULAS

C =2l +w)

C =4

C=a+b+c

C = 2nr

A=]xw

A=2

A= 1bh

A=m?

V=

V =1 hasex h

V=mh

y—y =miz—zy)

Y- Y-
T—T] X4

l=r
S=10101411)
S=Pr(1+"
P = Rum,

B (L+)" -1
P_R[ (L +7) J

S = H‘}m,

Szﬂ((l-{z}“l]
L 1
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ROUGH WORK
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